@mo, 7,102 10,13, 11

@ (1)7,9,10(2) 13,10, 11

® (1)7,10,9(2) 13,11, 10

@ (1)10,7,9(2) 11,13, 10

® (1)9,7,10(2) 10,13, 14




2.

& AelA 7V WA Agslor she BEE T2AQ.

120 4 15 x {(93 — 18) = 3 — 18}

D 120+ 15 @ 15x93

® 18+3 @93—18

® {(93-18) =318}
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@® (10+2+3)-4+5 @ 10+ (243)-4+5
® (10+2)+3-4+5 @10+2+3—(4+5)

® 10+ (2+3-4)+5
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@ (10+2+3)-4+5=16
@10+ (2+3)-4+5=16
®(104+2)+3-4+5=16
@®10+2+3-(4+5)=15-9=6
®10+(2+3-4)+5=16
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20+2x(6-] )-5=21
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(ZtL2t)=180°-40°-40°=100°
(Zr va71)=180°-100° = 80°
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75° @
120°
60° @ 50° 80"
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(Z @)= 180° - 75°—60° = 45°
(ZF @)= 360° - 120° — 130° - 80° = 30°

(@) - (% @)=45°-30° = 15°
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ca2l)= (Z}" CL2)=180°-106° = 74°
TLT)=180°-"74° = 106°
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